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THE TRIG. IDENTITIES

1) TANG = 20 3)  COS26 + SIN2g =1 4) Cosecd = ——
(1) = C0%e (3) 6 + 8 = (4) Cosec =Sims
Cot = =228 COS26 = 1 - SIN26 Sech = ——
or Cotd =<0 or 6=1- ect =z ¢
’ (2) COS6 = SIN(S0-6) or SIN28 =1 - COS28 Coto = ——

Use any of the above to sinplify:-

a) Tanx. Cos x b) 1 - Sinéx
Sin2x
- C) Cot x . Sec x d) CosZx
e)  4CosZx + 4Sin2x ) 5 - 5CosZx
g)  Tan2x.(1-Sin2x) hy a1 - Sin2x
D 1 0 1 - Sin2x
\J1 - Cos2x J 1 - Cos2x
V1 - Sin2x '
k) Coox o P Cosecx . Tanx
m)  SecZx - Tan2x n) CosA:(CosA+SinA) + SinA.(SinA-CosA)

ANSWERS: (a) Sinx (b) Cos2x (c) Cosecx (d) Tan2x (e) 4 (f) 5Sin2x (g) SinZx
(h) Cosx (i) Cosecx (j) Cotex (k) 1 (I) Secx (m) 1 (n) 1
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-—MV the following : — USING THE ABove RULES (SUBST”UTED‘ "\15’>
1. tan x cos x 16. tanA Y 1 - sin? A
2. cot x sin x 17. cos“*A + cos? A sin? A
A, secA cos {(90°- a) i8. (sin A + cos A )?
4. cosec A cof A 19. (sinA -cos A )2
' 5. sec A cotA 20. (sin A + cos A .2
. $. tam A sin ( 90° - A 21. (1-cosx) (1+cosx) sec? x
. 7. 3 -3 sin2 A sin A cos A
22, —/]/— —_—
- cosec A sec A
8. 1+ sin< A
l cos? A 23. - S S
, 1 -cos A -1 + cos A
5. Y 1 - sinZ A 24. (sec? A-1) + sec?A
10 25. 2 - sin? A - cos? A
- /T cosTRE »
1~ cosca 26. cosec @ cot { 90° - 6 )
. [I-sin®a 27. 5 cos2? 24° 12' + 5 sin? 24° 12°
) sin A
' . 28. / secf e -1
12. /Y (1 -sinA ) (1 + sindA) )
29. sin A - sin3 A

13. (1 -cos2A) (1+ tan2 )
14. (sec2 - tan A ) ( sec A+ tan A )
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F15, cosimi + cos A sinZ? A
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